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C 1P+ IH

1 GC =f(CGi/YDh)1,GYDh)
2 AC =f((CGi/YDh)1,AYDh)
3 C/YDh = f((CGi/YDh)-1, (C/ YDh )

C=
GC=C AC/C
NAC=Ct Cu1
YDh
YDh GDP
GYDh YDh
AYDh YDh: YDhea
CGi
i S,L,SL
1 1
YDh
CGi
1970 1970 1990
1970 1998 1990 1999
-1
3 :
C
1 2

23



(GYDh)
-2 71 90 S Iy
h 2.50 5

Lh/YDh
71 98 1
SLh/YDh : 5
Lh/YDh 1)
92 99 1 2

3 SLh/YDh
2.12 10

24



1.40

1.20

1.00

0.80

0.60

0.40

0.20

0.00

-0.20

-0.40

-0.60

-0.80

1971

1985

— — LANDCG5/YDh - - - -STOCKCG5/YDh

L+SCG5/YDh

25

10.0

8.0

6.0

4.0

2.0

0.0

-2.0

-4.0

-6.0



10

A-2 C
(Sh/YDh).; (1) (Lh/YDh)1 (1) (SLh/YDh). (t) AYDh (1) CON (1) R DW NO
F
AC 71 90 16268.1 (2.50)° 518 (2.88)° 17066 = (1.17) = 519 152 20
r F
AC 71 90 12133 (61) 638 (3.09) 10901 (64) | .357 1.28 20
r r
AC 71 90 17440 (1.04) 602 (2.94) 10583 (64) = .382 1.35 20
r
AC 71 98 11017.7 |(2.86)° 656 (5.38)° 7043 (71) 639 1.22 28
r r
AC 71 98 1889.0 (1.61) 676 (4.93) 2561 (24) 566 1.35 28
F
AC 71 98 20776 (2.10)° 650 (4.86)° 3628 (35 | .593 1.34 28
r r r
AC 92 99 110033 | (.64) 397 (60) 26725 (99) = -255 216 8
F F F F
AC 92 99 -9331.1 (1.22) 240 | (34) 33741 (1.37)  -0.048 = 246 8
r r r
AC 92 99 -5109.3  (.70) 081 | (10) 33017 (1.23)  -235 209 8
(C/YDh).
JR— r r
C/YDh 92 99 034 (212 074 (26) 818 | (3.26) 499 1.65 8
C CON
Sh A AX=Xe Xi-1)
Lh
SL Sh Lh R?
YD D.W
YD NO
(GDP ) 26
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A-4 Ipf
(SE/CF).1 (1) (L/ChL (1) (SL/CF).. (1) AGCF| (1) ey () Dasr. (1) CON R DW NO
1 GIP 72 90 064 (3.80)° T 499 (367) 013 674 187 19
2 GIP 72 90 .053/(2.09)° [ 579 [(3.56)° .010 514 1.91 19
3 GP 72 90 040 (3.65° | 504 (3.63)° 004 662 1.80 19
4 GIP 72 90 036 | (1.34) T 463 (339 -011 [(1.28) 105 687 191 19
5 GIP 72 90 001 (03) T 464 (321 -021 (268)° 187 649 215 19
6 GIP 72 90 01994 | 469 (3.34)° 012 [(1.16) 109 669 1.98 19
7 GIP 72 98 032 (262)" T 693 (4.94) 001 | (28) 045 [(1.17) 026 626 1.80 27
8 GIP 72 98 .063/(3.57)° [ 598 |(4.43)° -.290 '(.70) 067 (1.85)° 022 738 216 27
9 GlP 72 98 033(454° | 577 (454)° 008 | (20) 069 |(2.02)° 013 726 2,00 27
r r
10 GIP 92 99 070 | (L54) -210 | (37) -014 (1.19) 128 |(2.42)° 006 606 3.46 8
1 | o 92 99 245 (2.48)° " 521 (116) 006 | (.50) 067 [(L51) 036 770 2.88 8
12 | o 92 99 057 [(1.79) 054 | (11) 010 (88) 114 (2.36)° 014 661 342 8
13 | 6P 92 99 062 | (132) " o058 [(11) 128 (2.30)° -.039 565 2.15 8
14 | o 92 99 214 (3.06)" T 345 [(116) 073 [(1.89) 042 813 3.17 8
r r r r
15 | GlP 92 99 060 (1.96) 106 | (23) 115 | (2.44)° | -.015 681 2.45 8
P G= GX=AXY/X
sf CON
Lf
SLf Sf Lf R?
CF DW
CF CF GDP NO
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GIH = f((CGi/YD) 1, GYD, rh 1)

IH =
GIH = IH
YD =
YD =
GYD YD

CGi/YD=CGi YD
rh=

1 1
-5 IH (C,
1P¢)
1
. 1, — — 1
GIH =f (CGi/Yd, E(GYD+GYD.1), E(rh+rh 1))
3 A-6
72 90 L/YD 5
2.58 SL/YD
10%
72 98 L/YD
SL /YD 5 1
92 99 Dos
A5 IH 1996
Dos A-6
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S/YD LcvD+cvDa) L(therm,) ,
t) L/YD| (1) sLYD | () 2 @ 2 (t) Des (1) CON R DW/NO
r r r r r r r r
GIH 72 90 .030 | (45) 1.48 (1.30) -.020 (1.44) 111 233 1.85/19
r b r r r r r r
GIH 72 90 142 (2.58) .861 (.88) -.004 | (.28) -.049 462 1.71/19
r c r F r r r r
GIH 72 90 0.80(2.00) 1.153 (1.12) -.005 | (.36) -.027 .385 2.02/19
r c r c r r r r r r
GIH 72 98 114 (1.83) 1.620 (1.83) 0014  (17) .140/(1.50) -.064 226 1.92/27
r a r r r r r b r r
GIH 72 98 .135 (3.46) 271 (.30) 001 | (13) 187 (2.27) -.050 423 1.30/27
r a r L4 r r r b r r
GIH 72 98 0.93/(3.46) 469 (.54) .002 (.28) 1821(2.23) -.056 423 1.66/27
r a r r r a r a r r
GIH 92 99 262 (4.75) -2.393 (2.20) .042  (6.65) 277/(9.52) -.168 951 3.06/8
r r r c r r b r r
GIH 92 99 168 (.62) -5.93  (2.70) .040  (.1.71) 283 (3.42) -.097 .633 3.03/8
r b r c r b r a r r
GIH 92 99 .204(.3.74) -3.2 (2.62) 053 (5.60) .263/(7.21) -.146 .927 2.84/8
H rh
S Dgs 96 1
L= CON
SL S L
YD R?
YD D.W
GDP NO
G GX=AX/X 1
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